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8.1 Real Numbers B

The set of Real Numbers, denoted by R, is the union of the rational
numbers and irrational numbers.

In decimal form, irrational numbers G re ndy\'-‘-twm'mn{"w\a

And nm-v-tlzeghv\?).
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Properties of Real Numbers (for addition and multiplication)
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What properties does the set of irrational numbers have?
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Prove that there are infinitely many primes.

(Rroof by Condx adickon)
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Prove that V2 is irrational.
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Draw Venn Diagram for all the sets of numbers considered this
semester (N, W, Z, Q, R and irrationals (I)).
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Fractional Exponents % Y = %
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i.e. we can convert between rational exponents and roots/radicals
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Examples: Simplify these expressions.
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Qu‘u 2 ll

N

)@(5(2?)-—\? &S

O bevs 185 1949 1555 = 04

@ oo |94 1949-19)¢ =3¢
Q ev,,)qqg ) 1413 < ¢,

% = ol ¢ adzhn
() expenses: Y500 + D43

44ST 0o+ 043x= x
L(k(s 00~ OS:? %

x="7 €,07o.18

D X= g price
{!:':3 03 (0%%) =4§3.20

Osbx=4YR1.20
%= $%30

April 23, 2014



iy April 23, 2014

oF 42434+ - 123 +19Y = 43 (Ps)

= |
| 4194 =195 Qq(zl-qg}
2193295
Ce = )
—g_\_HZ:HS_ |-|-Z.-\- N V\(;\‘H
EFRTEL

“_H-Z__H%_‘_ .+ 2 F =035 (22?)

) I+213 =228

D\ 2424 =220
0%+ 20 =228
N2t lb=228
13 +1IT= 22¢

Yy

10



8.1 April 23, 2014
AN +2'(s) = 21 (535 + 1]

= 2 (s ey
= Zﬂ(gb) Z"\
= Z?(S") _ 21(2"-5('> =2 (10%)

= §oo0p 00

N

Thave |Zyds of fabic| T hae |2 yhs of Fubn(.
Each patira heeds = T yd.

m} kid s smalles 4han wma
1 her dress W‘K“"‘ 32 HW man 3 Pa&klmﬁ cwn T

of Hre walemal. wa macl. ke
fabic will T use -

1"



8.1

Mo

136, + G,
=13 RY,

convert 200l 4 lase 10,

200‘:= ((0"'°<$)+0(2§)-,-2_(‘2$),_ ‘_FZSO___ZgI

Convert 200\ o loase §

Emﬁil\ 2o0ol= 3(L7S)+\[|7<‘)

+0(%) +0(s)
+ Q)
¢2s 200\
T s = 3100|
??—g 126 iy

o §ad GCF 4Lim £ 135, 21, [LSO

2 RS 21 LR GCF=7
> ICm=35%91k
3
9
1o
2% Conuert l.oT23 * 4 'C"IC’(\QM
L \oldnans. ...
\oooon = |03 123 =
~ \on=l03
1970n= 10)2

n= o1 _ 33%| _
9990 - 330

April 23, 2014

12



